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THE 123 2 106 86% 3 2% 14 11%
R AR 105 9 80 76% 23 22% 2 2%
N o 100 5 78 78% 22 22% 0 0%
EEER 69 5 66 96% 0 0% 3 4%
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HEE 10 0 10 100% 0 0% 0 0%
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=RE 4 0 2 50% 2 50% 0O 0%
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HPRER 3 0 1 33% 2 67% 0 0%
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EEE 2 1 1 50% 1 50% 0 0%
TRk 5 2 1 2 100% ) 0% ) 0%
IIFE 2 0 2 100% O 0% 0 0%
=EER 2 0 2 100% 0 0% 0 0%
EHE 1 1 1 100% 0 0% 0 0%
MEE 1 0 0O 0% 1 100% 0O 0%
= 1 0 0 0% 1 100% 0 0%
RoE 1 0 O 0% 1 100% 0 0%
AR 1 0 1 100% 0 0% 0 0%
LEER 1 0 0 0% 1 100% 0O 0%
EIE 1 0 1 100% 0 0% 0 0%
EEE 1 0 1 100% 0 0% 0 0%
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